

Pay Estimate Created Date: April 16, 2024

Progress Estimate 11	Number	Contract ID Prime Contract	230519-F09 or Gerstner Elect	tric, Inc.	Pay Period Start Pay Period End	April 2, 2 April 15,		Original Contract Amount Net Change Order Amount Current Contract Amount	\$999,632.00 (\$19,105.00) \$980,527.00
Approval Date									By User
April 16, 2024			Generated and	Approved	l (and should be co	nsidered l	Draft) a	at the Project Office Level by	jonasj2
April 17, 2024		R	eviewed and Appr	oved (and	I should be conside	red Draft)	at the	Resident Engineer Level by	amburs1
April 18, 2024				Reviewed	d and Approved at t	he Centra	al Offic	e Controllers Office Level by	ramses1
Original Completio	n Date	Current Cor	npletion Date	Act	ual Completion Da	ite	9	6 of Current Contract Amoun	t Complete
May 23, 2024		May 2	3, 2024					60.13%	
	Contract	Informational Dat	es		Milest	ones			
Date Description	Original	Completion Date	Current Complet	tion Date	No Milestones E	xist for Co	ontract		
Acceptance Date									
Awarded Date	June 7, 2	023	June 7, 2023						
Letting Date	May 19, 2	2023	May 19, 2023						
Notice to Proceed Date	July 10, 2	2023	July 10, 2023						
Open to Traffic Date									
Work Began Date	Novembe	er 6, 2023	November 6, 202	3					

Contract Total Pay For Estimate No. 11 This Estimate Previous To Date 230519-F09 \$61,081.40 Total Posted Items Pay \$528,555.07 \$589,636.47 \$0.00 \$0.00 \$0.00 \$0.00 (\$35,059.12) \$0.00 \$0.00 \$133,480.08 Gross Item Adjustments \$0.00 \$0.00 Incentive Disincentive Liquidated Damage \$0.00 \$0.00 Other Contract Adjustments \$0.00 \$0.00 \$0.00 \$662,035.15 \$688,057.43

\$26,022.28

Contract Total Payable This Estimate:

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J6S3583	0170	6096020	FURNISHING TYPE 2 ROCK DITCH LINER	CUYD	\$85.000	38	\$3,230.00
	0180	6096042	PLACING TYPE 2 ROCK DITCH LINER	CUYD	\$120.000	38	\$4,560.00
	0570	9020513	SIGNAL HEAD, TYPE 3B	EA	\$1,190.000	11	\$13,090.00
	0580	9020514	SIGNAL HEAD, TYPE 4B	EA	\$1,324.000	1	\$1,324.00
	0600	9020833	SH-FLAT SHEET - SIGNAL SIGN	SQFT	\$41.000	34.5	\$1,414.50
	0610	9020834	SIGNAL SIGN, MOUNTING HARDWARE	EA	\$105.000	4	\$420.00
	0910	9029902	MISC.SL DISTRICT TRAFFIC SIGNAL DETECTION SYSTEM	EA	\$35,150.000	1	\$35,150.00
	1000	9109902	MISC.INSTALL CONDUIT INTO EXISTING PULL BOX	EA	\$250.000	2	\$500.00
	1030	9109902	MISC.INTERCEPT CONDUIT WITH PULL BOX	EA	\$445.000	2	\$890.00
	1090	9109903	MISC.CONDUIT, HDPE, TRENCH, 2"	LF	\$10.700	47	\$502.90
Project J6S3	83 - Total						\$61,081.40
Overall - Tota	l .						\$61,081.40

Contract Adjustments This Estimate

		tments Exist on Contract ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J6S3583	0570	SIGNAL HEAD, TYPE 3B	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$7,223.79)



Pay Estimate Created Date: April 16, 2024

Prog		imate Number I1	Contract II Prime Con		19-F09 tner Electric, I	Inc. Pay Period End April 15, 2024 Net Ch	al Contract A lange Order A lt Contract A	Amount (S	\$999,632.00 \$19,105.00) \$980,527.00
Project Number	Line No.	Item Descr	iption	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J6S3583	0580	SIGNAL HEA	D, TYPE 4B	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$770.00)
	0600	SH-FLAT SHEE	ET - SIGNAL SIGN	Material			-34.5	\$41.00	(\$1,414.50)
	0600	SH-FLAT SHEE	ET - SIGNAL SIGN	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0006) due to user jonasj2 overridding Payment Estimate Exception 1 on the current Payment Estimate.	34.5	\$41.00	\$1,414.50
	0910		MISC.	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$27,065.33)
Total	· ·								(\$35,059.12)



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Contract Project Information
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work
J6S3583	FAS S503(12)	Signal improvements and ADA	109, 141, and I-270	ST LOUIS	at Route 109 and La Salle Middle School, at Route 141 and Gravois Road, and at I-270 SB Ramp and Big Bend Road

Totals by Job Numbers

J6S3583		This Estimate	Previous	To Date
Posted Item Pay		\$61,081.40	\$528,555.07	\$589,636.47
Gross Item Adjustments		(\$35,059.12)	\$133,480.08	\$98,420.96
Gi	ross Item Pay	\$26,022.28	\$662,035.15	\$688,057.43
Incentive		\$0.00	\$0.00	\$0.00
Disincentive		\$0.00	\$0.00	\$0.00
Liquidated Damages		\$0.00	\$0.00	\$0.00
Other Contract Adjustme	ents	\$0.00	\$0.00	\$0.00

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J6S3583, Item 9020833, Project Item Line Number 0600, Material Set 902083396, Material 1042SM - Sign Material, Acceptance Action Generic 1042SM is insufficient.	Material inspections were requested for SH-FLAT-SHEET on April 8th. Request provided material location, job number, and item numbers for all signing materials requesting state inspection. Materials staff didn't have the ability to get there in the past week, but expect to have this resolved by next estimate.	jonasj2	Overridden



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
230519-F09	J6S3583	0001	0010	2013000	CLEARING AND GRUBBING	1.00	0.00	1.00	ACRE	1.00	\$5,000.00	\$5,000.0
		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.25	\$84,585.00	\$21,146.2
		0001	0030	2063000	CLASS 3 EXCAVATION	680.00	-680.00	0.00	CUYD	0.00	\$5.00	\$0.0
		0001	0040	2071000	LINEAR GRADING CLASS 1	0.10	0.00	0.10	STA	0.00	\$3,500.00	\$0.0
		0001	0050	2072000	LINEAR GRADING CLASS 2	1.20	-1.20	0.00	STA	0.00	\$2,230.00	\$0.0
		0001	0060	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	77.00	0.00	77.00	SQYD	0.00	\$27.35	\$0.0
		0001	0070	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	8.50	0.00	8.50	TONS	0.00	\$480.00	\$0.0
		0001	0080	4071005	TACK COAT	12.00	0.00	12.00	GAL	0.00	\$20.00	\$0.0
		0001	0090	6044011	PIPE COLLAR, TYPE A	2.00	-2.00	0.00	EA	0.00	\$1,510.00	\$0.0
		0001	0100	6049902	MISC.GRATED INLET REPAIR/REPLACEMENT	1.00	0.00	1.00	EA	0.00	\$920.00	\$0.0
		0001	0110	6081012	TRUNCATED DOMES	10.00	0.00	10.00	SQFT	0.00	\$30.00	\$0.0
		0001	0120	6083006	6 IN. CONCRETE MEDIAN STRIP	83.00	0.00	83.00	SQYD	0.00	\$135.75	\$0.0
		0001	0130	6085008	PAVED APPROACH, 8 IN.	77.00	0.00	77.00	SQYD	0.00	\$230.15	\$0.0
		0001	0140	6089902	MISC.ADA CURB RAMPS	1.00	0.00	1.00	EA	0.00	\$3,000.00	\$0.0
		0001	0150	6089902	MISC.ISLAND TUBULAR MARKERS	8.00	0.00	8.00	EA	0.00	\$125.00	\$0.0
		0001	0160	6092011	INTEGRAL CURB (6 IN. HEIGHT AND UNDER) TYPE A	116.00	0.00	116.00	LF	0.00	\$37.45	\$0.0
		0001	0170	6096020	FURNISHING TYPE 2 ROCK DITCH LINER	8.00	30.00	38.00	CUYD	38.00	\$85.00	\$3,230.0
		0001	0180	6096042	PLACING TYPE 2 ROCK DITCH LINER	8.00	30.00	38.00	CUYD	38.00	\$120.00	\$4,560.0
		0001	0190	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	4.00	0.00	4.00	EA	2.00	\$100.00	\$200.0
		0001	0200	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	7.00	0.00	7.00	SQYD	0.00	\$900.00	\$0.0
		0001	0210	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	7.00	0.00	7.00	SQYD	0.00	\$5.00	\$0.0
		0001	0220	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	1.00	0.00	1.00	SQYD	0.00	\$45.00	\$0.0
		0001	0230	6131014	AND INTERNAL SAW CUTS)	53.00	0.00	53.00	LF	0.00	\$12.00	\$0.0
		0001	0240	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	30.00	0.00	30.00	EA	0.00	\$10.00	\$0.0
		0001	0250	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.75	\$16,120.00	\$12,090.0
		0001	0260	6169902	MISC.NTCIP COMPLIANT CHANGEABLE MESSAGE SIGN (CONTRACTER FURNISHED AND RETAINED)	4.00	0.00	4.00	EA	0.00	\$100.00	\$0.0
		0001	0270	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.83	\$120,447.25	\$99,730.3
		0001	0280	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	312.00	0.00	312.00	LF	0.00	\$20.00	\$0.0
		0001	0290	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	18.00	0.00	18.00	LF	0.00	\$20.00	\$0.0
		0001	0300	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	10.00	0.00	10.00	EA	0.00	\$300.00	\$0.0
		0001	0310	6200027	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	1.00	0.00	1.00	EA	0.00	\$550.00	\$0.0
		0001	0320	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	17.00	0.00	17.00	EA	0.00	\$180.00	\$0.0
		0001	0330	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	19.00	0.00	19.00	EA	0.00	\$45.00	\$0.0
		0001	0340	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	255.00	0.00	255.00	LF	0.00	\$2.50	\$0.0
		0001	0350	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	157.00	0.00	157.00	LF	0.00	\$2.50	\$0.0
		0001	0360	6209902	MISC.CURB REFLECTORS	21.00	0.00	21.00	EA	0.00	\$40.00	\$0.
		0001	0370	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	77.00	0.00	77.00	SQYD	0.00	\$80.00	\$0.0
		0001	0380	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$9,000.00	\$9,000.0
		0001	0390	7261018	18 IN. PIPE GROUP A	80.00	-80.00	0.00	LF	0.00	\$205.10	\$0.0
		0001	0400	7320618A	18 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	2.00	-2.00	0.00	EA	0.00	\$855.00	\$0.0
		0001	0410	8025006	MULCHING	0.40	0.00	0.40	ACRE	0.00	\$9,000.00	\$0.0
		0001	0420	8051000A	SEEDING - COOL SEASON GRASSES	0.40	0.00	0.40	ACRE	0.00	\$9,000.00	\$0.0



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	eport Generated date and can differ from the posted amo Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved	Unit Price	Total Value POSTED To Date (See report generated date)
230519-F09	J6S3583	0020	0430	9011062	LIGHTING POLE, 45 FT. OR 13.5 M, TYPE AT DESIGN 2	1.00	0.00	1.00	EA	Qty 0.00	\$3,882.00	\$0.00
		0020	0440	9011115	BRACKET ARM, 15 FT. OR 4.6 M	2.00	0.00	2.00	EA	0.00	\$1,281.00	\$0.00
		0020	0450	9011311	LUMINAIRE, LED-A	1.00	0.00	1.00	EA	0.00	\$373.00	\$0.00
		0020	0460	9011313	LUMINAIRE, LED-C	6.00	0.00	6.00	EA	0.00	\$558.00	\$0.0
		0020	0470	9013004	CONDUIT, 4 IN. RIGID, IN TRENCH	14.00	0.00	14.00	LF	14.00	\$27.00	\$378.0
		0020	0480	9014003	CONDUIT, 3 IN. RIGID, PUSHED	431.00	0.00	431.00	LF	431.00	\$41.00	\$17,671.0
		0020	0490	9015010	TRENCHING TYPE I	67.00	0.00	67.00	LF	0.00	\$4.70	\$0.0
		0020	0500	9015020	TRENCHING TYPE II	7.00	0.00	7.00	LF	0.00	\$9.50	\$0.0
		0020	0510	9016112	PULL BOX, PREFORMED CLASS 3	1.00	0.00	1.00	EA	1.00	\$3,018.00	\$3,018.0
		0020	0520	9017110	CABLE, 10 AWG 1 CONDUCTOR, POLE AND BRACKET	410.00	0.00	410.00	LF	0.00	\$0.70	\$0.0
		0020	0530	9017407	CABLE-CONDUIT, 1 IN., 2 CONDUCTORS AND 1 BARE NEUTRAL, 8 AWG	580.00	0.00	580.00	LF	580.00	\$5.85	\$3,393.0
		0020	0540	9018245	POLE FOUNDATION (45 FT. OR 13.5 M MOUNTING HEIGHT)	4.00	0.00	4.00	EA	0.00	\$1,800.00	\$0.0
		0020	0550	9019902	MISC.45 FT TOP MOUNT POLES	3.00	0.00	3.00	EA	0.00	\$3,790.00	\$0.0
		0030	0560	9020213	SIGNAL HEAD, TYPE 3S	4.00	0.00	4.00	EA	2.00	\$975.00	\$1,950.0
		0030	0570	9020513	SIGNAL HEAD, TYPE 3B	24.00	0.00	24.00	EA	13.00	\$1,190.00	\$15,470.0
		0030	0580	9020514	SIGNAL HEAD, TYPE 4B	3.00	0.00	3.00	EA	1.00	\$1,324.00	\$1,324.0
		0030	0590	9020515	SIGNAL HEAD, TYPE 5B	1.00	0.00	1.00	EA	0.00	\$1,843.00	\$0.0
		0030	0600	9020833	SH-FLAT SHEET - SIGNAL SIGN	86.00	0.00	86.00	SQFT	34.50	\$41.00	\$1,414.5
		0030	0610	9020834	SIGNAL SIGN, MOUNTING HARDWARE	11.00	0.00	11.00	EA	4.00	\$105.00	\$420.0
		0030	0620	9022715	POST, SIGNAL 15 FT.	1.00	0.00	1.00	EA	0.00	\$1,692.00	\$0.0
		0030	0630	9023125	POST, TYPE CL, 25 FT. ARM OR 7.6 M ARM	1.00	0.00	1.00	EA	1.00	\$11,776.00	\$11,776.0
		0030	0640	9023235	POST, TYPE C, 35 FT. ARM OR 10.7 M ARM	3.00	0.00	3.00	EA	3.00	\$11,560.00	\$34,680.0
		0030	0650	9023240	POST, TYPE C, 40 FT. ARM OR 12.2 M ARM	2.00	0.00	2.00	EA	2.00	\$13,193.00	\$26,386.0
		0030	0660	9023245	POST, TYPE C, 45 FT. ARM OR 13.7 M ARM	1.00	0.00	1.00	EA	1.00	\$13,426.00	\$13,426.0
		0030	0670	9023335	POST, TYPE B, LONGEST ARM 35 FT. OR 10.7 M	1.00	0.00	1.00	EA	1.00	\$19,813.00	\$19,813.0
		0030	0680	9023340	POST, TYPE B, LONGEST ARM 40 FT. OR 12.2 M	1.00	0.00	1.00	EA	1.00	\$19,291.00	\$19,291.0
		0030	0690	9024283	CONTROLLER ASSEMBLY HOUSING, NEMA TS2 CONTROLLER	3.00	0.00	3.00	EA	2.00	\$17,000.00	\$34,000.0
		0030	0700	9025020	CONDUIT, 1 IN., LOOP DETECTOR WITH TRACER WIRE	53.00	0.00	53.00	LF	0.00	\$21.00	\$0.0
		0030	0710	9025200	CONDUIT, 2 IN., TRENCH WITH TRACER WIRE	18.00	0.00	18.00	LF	18.00	\$13.00	\$234.0
		0030	0720	9025300	CONDUIT, 3 IN., TRENCH WITH TRACER WIRE	1,243.00	0.00	1,243.00	LF	744.00	\$16.00	\$11,904.0
		0030	0730	9027200	CONDUIT, 2 IN., PUSHED WITH TRACER WIRE	141.00	0.00	141.00	LF	141.00	\$13.00	\$1,833.0
		0030	0740	9027300	CONDUIT, 3 IN., PUSHED WITH TRACER WIRE	697.00	0.00	697.00	LF	640.00	\$33.00	\$21,120.0
		0030	0750	9028208	CABLE, 8 AWG 1 CONDUCTOR, POWER	580.00	0.00	580.00	LF	500.00	\$1.40	\$700.0
		0030	0760	9028302	CABLE, 12 AWG 2 CONDUCTOR	220.00	0.00	220.00	LF	220.00	\$1.00	\$220.0
		0030	0770	9028308	CABLE, 16 AWG 2 CONDUCTOR	870.00	0.00	870.00	LF	870.00	\$0.60	\$522.0
		0030	0780	9028310	CABLE, 16 AWG 5 CONDUCTOR	870.00	0.00	870.00	LF	870.00	\$1.40	\$1,218.0
		0030	0790	9028311	CABLE, 16 AWG 7 CONDUCTOR	7,550.00	0.00	7,550.00	LF	7,550.00	\$2.00	\$15,100.0
		0030	0800	9028500	CABLE, LOOP DETECTOR, IN DUCT	520.00	0.00	520.00	LF	0.00	\$10.00	\$0.0
		0030	0810	9028510	CABLE, LOOP DETECTOR, LEAD-IN	2,400.00	0.00	2,400.00	LF	1,495.00	\$1.20	\$1,794.0
		0030	0820	9028811	PULL BOX, PREFORMED CLASS 2	11.00	0.00	11.00	EA	8.00	\$2,325.00	\$18,600.0
		0030	0830	9028812	PULL BOX, PREFORMED CLASS 3	3.00	1.00	4.00	EA	4.00	\$3,500.00	\$14,000.0
		0030	0840	9029100	BASE, CONCRETE	37.30	0.00	37.30	CUYD	37.30	\$1,385.00	\$51,660.5
		0030	0850	9029901	MISC.TRAFFIC SIGNAL MAINTENANCE & PROGRAMMING	1.00	0.00	1.00	LS	0.00	\$7,500.00	\$0.0
		0030	0860	9029902	MISC.ATC TRAFFIC SIGNAL CONTROLLER	3.00	0.00	3.00	EA	1.00	\$4,786.00	\$4,786.0
		0030	0870	9029902	MISC.COMBINATION PAD MOUNTED 120V/240V POWER SUPPLY AND LIGHTING CONTROLLER WITH UPS	3.00	0.00	3.00	EA	2.00	\$19,050.00	\$38,100.0



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Im.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
30519-F09	J6S3583	0030	0880	9029902	MISC.NETWORK CONNECTED SIGNAL MONITOR	3.00	0.00	3.00	EA	2.00	\$1,230.00	\$2,460.00
		0030	0890	9029902	MISC.RELOCATE PEDESTRIAN PUSHBUTTON	1.00	0.00	1.00	EA	0.00	\$179.00	\$0.00
		0030	0900	9029902	MISC.RELOCATE PEDESTRIAN SIGNAL HEAD	1.00	0.00	1.00	EA	0.00	\$270.00	\$0.00
		0030	0910	9029902	MISC.SL DISTRICT TRAFFIC SIGNAL DETECTION SYSTEM	3.00	0.00	3.00	EA	1.00	\$35,150.00	\$35,150.00
		0040	0920	9031270A	2 IN. PSST POST - 12 GA.	30.00	0.00	30.00	LF	0.00	\$21.00	\$0.00
		0040	0930	9031271A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	3.00	0.00	3.00	EA	0.00	\$179.00	\$0.00
		0040	0940	9035004A	SH-FLAT SHEET	5.00	0.00	5.00	SQFT	0.00	\$34.00	\$0.00
		0040	0950	9035069A	SHF-FLAT SHEET FLUORESCENT	18.00	0.00	18.00	SQFT	0.00	\$25.00	\$0.00
		0050	0960	9109901	MISC.ITS ASSET MANAGEMENT TOOL	1.00	0.00	1.00	LS	0.00	\$1,000.00	\$0.00
		0050	0970	9109902	MISC.FIBER OPTIC FUSION SPLICE	58.00	0.00	58.00	EA	0.00	\$109.00	\$0.00
		0050	0980	9109902	MISC.FIBER OPTIC JUMPER, SM, FURNISH AND INSTALL	14.00	0.00	14.00	EA	0.00	\$18.00	\$0.00
		0050	0990	9109902	MISC.FIBER OPTIC PIGTAIL, SM, FURNISH AND INSTALL	14.00	0.00	14.00	EA	0.00	\$35.00	\$0.00
		0050	1000	9109902	MISC.INSTALL CONDUIT INTO EXISTING PULL BOX	2.00	0.00	2.00	EA	2.00	\$250.00	\$500.00
		0050	1010	9109902	MISC.INSTALL MODOT FURNISHED IP ADDRESSABLE POWER	4.00	0.00	4.00	EA	0.00	\$148.00	\$0.0
		0050	1020	9109902	MISC.INSTALL OR RELOCATE EXISTING COMMUNICATION EQUIPMENT	3.00	0.00	3.00	EA	0.00	\$413.00	\$0.00
		0050	1030	9109902	MISC.INTERCEPT CONDUIT WITH PULL BOX	2.00	0.00	2.00	EA	2.00	\$445.00	\$890.0
		0050	1040	9109902	MISC.ITS PULL BOX WITH CONCRETE PAD, PREFORMED CLASS 5	2.00	-1.00	1.00	EA	1.00	\$3,332.00	\$3,332.00
		0050	1050	9109902	MISC.MODOT BURIED CABLE DRIVABLE DELINEATOR POST	2.00	0.00	2.00	EA	0.00	\$118.00	\$0.0
		0050	1060	9109902	MISC.RELOCATE EXISTING CCTV CAMERA ASSEMBLY	1.00	0.00	1.00	EA	0.00	\$1,033.00	\$0.00
		0050	1070	9109902	MISC.SPECTRUM NETWORK COMMUNICATION INSTALLATION COORDINATION	1.00	0.00	1.00	EA	0.00	\$295.00	\$0.00
		0050	1080	9109902	MISC.WALL-MOUNTED INTERCONNECT CENTER, FURNISH AND INSTALL	4.00	0.00	4.00	EA	0.00	\$472.00	\$0.00
		0050	1090	9109903	MISC.CONDUIT, HDPE, TRENCH, 2"	407.00	-360.00	47.00	LF	47.00	\$10.70	\$502.9
		0050	1100	9109903	MISC.FIBER OPTIC CABLE, 24 STRAND, SINGLE MODE	780.00	0.00	780.00	LF	0.00	\$2.70	\$0.0
		0020	5001	9016110	PULL BOX, PREFORMED CLASS 1	0.00	3.00	3.00	EA	3.00	\$1,881.00	\$5,643.00
	Project J	6S3583 - To	tal Value	Posted to D	ate as of Report Generated Date							\$589,636.4
30519-F09 Ove	rall - Total	Value Post	ed to Dat	te as of Repo	ort Generated Date							\$589,636.47



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

roject:	J6S358	3										
Line Number	ltem Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0170	6096020	FURN. TYPE 2 ROCK DITCH LINER	4/11/24	4/16/24	38.00	CUYD	109 at LaSalle, ditch liner around cabinet equipment	111+68	33.8L	113+70	33.12L	
0180	6096042	PLACING TYPE 2 ROCK DITCH LINER	4/11/24	4/16/24	38.00	CUYD	109 at LaSalle, ditch liner around cabinet equipment	111+68	33.8L	113+70	33.12L	
0570	9020513	SIGNAL HEAD, TYPE 3B	4/2/24	4/15/24	5.00	EA	Hwy 141 and Old Gravois Rd on south side of intersection on the #4 Signal post arm	479+84	63R			
			4/12/24	4/15/24	6.00	EA	141 at Old Gravois - Heads installed on Signal Base poles 1 & 3 SW & SE quads.	479+23	30.3L	480+46	68.4R	
0580	9020514	SIGNAL HEAD, TYPE 4B	4/2/24	4/15/24	1.00	EA	Hwy 141 and Old Gravois Rd on south side of intersection on the #4 Signal post arm	479+84	63R			
0600	9020833	SH-FLAT SHEET - SIGNAL SIGN	4/15/24	4/16/24	34.50	SQFT	Gravois & 141 Signal signs and mounting brackets for entire intersection.	479+23		480+46		
0610	9020834	SIGNAL SIGN, MOUNTING HARDWARE	4/15/24	4/16/24	4.00	EA	Brackets for mast arms on Gravois Road and Highway 141.	479+23		480+46		
0910	9029902	MISC.	4/12/24	4/15/24	1.00	EA	141 at Old Gravois intersection video detection.	17+52		20+41		
1000	9109902	MISC. ITS	4/11/24	4/16/24	2.00	EA	Connection into existing pull boxes completed at Big Bend (1) and 141 at Old Gravois (1)	various				
1030	9109902	MISC. ITS	4/11/24	4/16/24	2.00	EA	PB Intercepts installed at Route 109 with existing PB, and Highway 141 at Old Gravois with existing PB.	Various				
1090	9109903	MISC. ITS	4/11/24	4/16/24	47.00	LF	24' of 2" HDPE installed to new cabinet at 141 and Old Gravois. 23' of 2" HDPE installed to new cabinet at Big Bend and I-270	various				

The information below this line are details for Construction Signs (if applicable). No Data Available



Line Item Adjustments by Estimate

Apr 19, 2024

Contract ID: 230519-F09

ant	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
ect	LINE	Description	Туре	Adjustment Type	Number	Date	By	Amount	Reliaiks
583	0560	SIGNAL HEAD, TYPE 3S	Construction Stockpile		10	Apr 1, 2024	SYSTEM	(\$950.50)	Payment Estimate Item Adjustment generated Stockpile Transaction
		50		- Total				(\$950.50)	
			Construction	Stockpile - 1	Total			(\$950.50)	
			Construction Stockpile STMI		7	Feb 2, 2024	SYSTEM	\$1,901.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			511111	- Total				\$1,901.00	
			Construction	Stockpile S	۲MI - Tota			\$1,901.00	
	0560 -	Total						\$950.50	
	0570	SIGNAL HEAD, TYPE	Construction Stockpile		10	Apr 1, 2024	SYSTEM	(\$1,313.42)	Payment Estimate Item Adjustment generated Stockpile Transaction
		3B			11	Apr 16, 2024	SYSTEM	(\$7,223.79)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$8,537.21)	
			Construction	Stockpile - 1	l fotal			(\$8,537.21)	
			Construction		7	Feb 2,	SYSTEM	\$15,761.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			Stockpile STMI	- Total		2024		\$15,761.00	
			0						
			Construction	Stockpile S	i wii - Tota			\$15,761.00	
	0570 -							\$7,223.79	
	0580	SIGNAL HEAD, TYPE 4B	Construction Stockpile		11	Apr 16, 2024	SYSTEM	(\$770.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$770.00)	
			Construction	Stockpile - 1	Fotal			(\$770.00)	
			Construction Stockpile STMI		7	Feb 2, 2024	SYSTEM	\$2,310.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$2,310.00	
			Construction	Stockpile S	「MI - Tota			\$2,310.00	
	0580 -	Total						\$1,540.00	
	0590	SIGNAL HEAD, TYPE 5B	Construction Stockpile STMI		7	Feb 2, 2024	SYSTEM	\$1,089.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$1,089.00	
			Construction	Stockpile S	ſMI - Tota			\$1,089.00	
			Construction	ottoon pilo o				• 1,000100	
	0590 -	Total	Construction					\$1,089.00	
	0590 - 0600	Total SH-FLAT SHEET - SIGNAL SIGN	Material		11	Apr 16, 2024	SYSTEM		This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user jonasj2 overridding Paymer Estimate Exception 1 on the current Payment Estimate.
		SH-FLAT SHEET -			11 11		SYSTEM SYSTEM	\$1,089.00	Estimate Item Adjustment (0006) due to user jonasj2 overridding Paymen
		SH-FLAT SHEET -		- Total		2024 Apr 16,		\$1,089.00 \$1,414.50	Estimate Item Adjustment (0006) due to user jonasj2 overridding Paymen
		SH-FLAT SHEET -		- Total		2024 Apr 16,		\$1,089.00 \$1,414.50 (\$1,414.50)	Estimate Item Adjustment (0006) due to user jonasj2 overridding Paymen
		SH-FLAT SHEET - SIGNAL SIGN	Material	- Total		2024 Apr 16,		\$1,089.00 \$1,414.50 (\$1,414.50) \$0.00	Estimate Item Adjustment (0006) due to user jonasj2 overridding Paymen
	0600	SH-FLAT SHEET - SIGNAL SIGN	Material Material - Tot Construction Stockpile	- Total		2024 Apr 16,		\$1,089.00 \$1,414.50 (\$1,414.50) \$0.00 \$0.00	Estimate Item Adjustment (0006) due to user jonasj2 overridding Paymen
	0600	SH-FLAT SHEET - SIGNAL SIGN Total POST,	Material Material - Tot Construction	- Total	11	2024 Apr 16, 2024 Feb 2,	SYSTEM	\$1,089.00 \$1,414.50 (\$1,414.50) \$0.00 \$0.00 \$0.00	Estimate Item Adjustment (0006) due to user jonasj2 overridding Paymen Estimate Exception 1 on the current Payment Estimate.
	0600	SH-FLAT SHEET - SIGNAL SIGN Total POST,	Material Material - Tot Construction Stockpile	- Total al - Total	7	2024 Apr 16, 2024 Feb 2, 2024	SYSTEM	\$1,089.00 \$1,414.50 (\$1,414.50) \$0.00 \$0.00 \$0.00 \$1,226.00	Estimate Item Adjustment (0006) due to user jonasj2 overridding Paymen Estimate Exception 1 on the current Payment Estimate.
	0600	SH-FLAT SHEET - SIGNAL SIGN Total POST, SIGNAL 15 FT.	Material Material - Tot Construction Stockpile STMI	- Total al - Total	7	2024 Apr 16, 2024 Feb 2, 2024	SYSTEM	\$1,089.00 \$1,414.50 (\$1,414.50) \$0.00 \$0.00 \$1,226.00 \$1,226.00 \$1,226.00	Estimate Item Adjustment (0006) due to user jonasj2 overridding Paymen Estimate Exception 1 on the current Payment Estimate.
	0600 - 0600 - 0620	SH-FLAT SHEET - SIGNAL SIGN Total POST, SIGNAL 15 FT. Total POST, TYPE C, 40 FT. ARM OR 12.2 M	Material Material - Tot Construction Stockpile STMI	- Total al - Total	7	2024 Apr 16, 2024 Feb 2, 2024	SYSTEM	\$1,089.00 \$1,414.50 (\$1,414.50) \$0.00 \$0.00 \$0.00 \$1,226.00 \$1,226.00	Estimate Item Adjustment (0006) due to user jonasj2 overridding Paymen Estimate Exception 1 on the current Payment Estimate.
	0600 - 0600 - 0620 -	SH-FLAT SHEET - SIGNAL SIGN Total POST, SIGNAL 15 FT. Total POST, TYPE C, 40 FT. ARM	Material Material - Tot Construction Stockpile STMI Construction	- Total al - Total	11 7 TMI - Tota	2024 Apr 16, 2024 Feb 2, 2024 Mar 17,	SYSTEM	\$1,089.00 \$1,414.50 (\$1,414.50) \$0.00 \$0.00 \$1,226.00 \$1,226.00 \$1,226.00	Estimate Item Adjustment (0006) due to user jonasj2 overridding Paymen Estimate Exception 1 on the current Payment Estimate.
1	0600 - 0600 - 0620 -	SH-FLAT SHEET - SIGNAL SIGN Total POST, SIGNAL 15 FT. Total POST, TYPE C, 40 FT. ARM OR 12.2 M	Material Material - Tot Construction Stockpile STMI Construction	- Total al - Total	11 7 [MI - Tota 9	2024 Apr 16, 2024 Feb 2, 2024 Mar 17, 2024 Mar 17,	SYSTEM	\$1,089.00 \$1,414.50 (\$1,414.50) \$0.00 \$0.00 \$1,226.00 \$1,226.00 \$1,226.00 \$1,226.00 \$1,226.00	Estimate Item Adjustment (0006) due to user jonasj2 overridding Paymen Estimate Exception 1 on the current Payment Estimate.
	0600 - 0600 - 0620 -	SH-FLAT SHEET - SIGNAL SIGN Total POST, SIGNAL 15 FT. Total POST, TYPE C, 40 FT. ARM OR 12.2 M	Material Material - Tot Construction Stockpile STMI Construction	- Total al - Total Stockpile ST	11 7 [MI - Tota 9	2024 Apr 16, 2024 Feb 2, 2024 Mar 17, 2024 Mar 17,	SYSTEM	\$1,089.00 \$1,414.50 (\$1,414.50) \$0.00 \$0.00 \$1,226.00 \$1,226.00 \$1,226.00 \$1,226.00 \$1,226.00 \$1,226.00 (\$13,193.00)	Estimate Item Adjustment (0006) due to user jonasj2 overridding Paymen Estimate Exception 1 on the current Payment Estimate.



Line Item Adjustments by Estimate

Apr 19, 2024

Contract ID: 230519-F09

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
6S3583	0660	POST, TYPE C, 45 FT. ARM OR 13.7 M ARM	Material		9	Mar 17, 2024	SYSTEM	\$13,426.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user jonasj2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					9	Mar 17, 2024	SYSTEM	(\$13,426.00)	
				- Total					
			Material - Total					\$0.00	
	0660 -	Total						\$0.00	
	0680	POST, TYPE B, LONGEST ARM 40 FT. OR 12.	Material		9	Mar 17, 2024	SYSTEM	\$19,291.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jonasj2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					9	Mar 17, 2024	SYSTEM	(\$19,291.00)	
				- Total				\$0.00	
			Material - Total					\$0.00	
	0680 -	Total						\$0.00	
	0690	CONTROLLER ASSEMBLY HOUSING,	Construction Stockpile		7	Feb 2, 2024	SYSTEM	(\$11,559.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					8	Feb 16, 2024	SYSTEM	(\$11,559.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$23,118.00)	
			Construction	Stockpile - 1	Fotal			(\$23,118.00)	
			Construction Stockpile STMI		7	Feb 2, 2024	SYSTEM	\$34,677.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$34,677.00	
			Construction	onstruction Stockpile STMI - Total				\$34,677.00	
	0690 -	Total						\$11,559.00	
	0860	MISC.	Construction Stockpile		7	Feb 2, 2024	SYSTEM	(\$3,574.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$3,574.00)	
			Construction	Stockpile - Total				(\$3,574.00)	
			Construction Stockpile STMI		1	Oct 16, 2023	SYSTEM	\$10,722.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$10,722.00	
			Construction	Stockpile STMI - Total				\$10,722.00	
	0860 -	- Total						\$7,148.00	
	0870	MISC.	Construction Stockpile		7	Feb 2, 2024	SYSTEM	(\$12,545.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					8	Feb 16, 2024	SYSTEM	(\$12,545.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$25,090.00)	
			Construction	Stockpile - 1	Fotal			(\$25,090.00)	
			Construction Stockpile STMA		5	Jan 2, 2024	SYSTEM	\$12,545.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$12,545.00	
			Construction	Stockpile S	TMA - Tota	al		\$12,545.00	
			Construction Stockpile STMI		2	Nov 16, 2023	SYSTEM	\$25,090.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$25,090.00	
			Construction Stockpile STMI - Total					\$25,090.00	
	0870 -	Total							
	0880	MISC.	Construction Stockpile		7	Feb 2, 2024	SYSTEM	(\$1,009.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					8	Feb 16, 2024	SYSTEM	(\$1,009.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$2,018.00)	



Line Item Adjustments by Estimate

Contract ID: 230519-F09

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3583	0880	MISC.	Construction Stockpile - Total					(\$2,018.00)	
			Construction Stockpile STMI		7	Feb 2, 2024	SYSTEM	\$3,027.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$3,027.00	
			Construction Stockpile STMI - Total					\$3,027.00	
	0880 -	Total						\$1,009.00	
	0910	MISC.	Construction Stockpile		11	Apr 16, 2024	SYSTEM	(\$27,065.33)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total					(\$27,065.33)	
			Construction Stockpile - Total					(\$27,065.33)	
			Construction Stockpile STMI		7	Feb 2, 2024	SYSTEM	\$81,196.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$81,196.00	
			Construction Stockpile STMI - Total					\$81,196.00	
	0910 - Total								
J6S3583 - Total								\$98,420.96	
Overall - Total								\$98,420.96	



There are no contract adjustments to display for this contract.